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Question 1: X,tlultiplc choice: circle the best answcr to cach question:

(1)[2 points] Thc followirrg table gives data for population and nurnber of ftr,tril nrotot'vehiclc
ru,ccirkrnts fol Canada's four largcst provinces for thc ycar 2000:

I 'rovincc Population (millions) Number of Fatalities
British Colrrrnbia 4 . r 421
All;crta 3.0 364
Orrt,a,rio 11.7 849
()uelrec; 7.4 765

Whiril provincc has thc krwest motor vehir:lc fatality rate pcr 100,000 rcsitltrtts'/

(a) I3ri t ish Cohrrnbia

(lr) Al lrert,a
.^'
(  ( r ' ) )  ( ) r r t ru ' io
\-/
( r l )  ( )uc l rccr

(c) '['lurrc is rrot cnorrg]r inforrna,tion to cletcrminc t]rc ?ulswcr.

(2)12 points] A pclsorr stt:ps ou tlur batlrruorn scalc fivc tirrr.cs irr sucr:cssiott atttl ta,lics tltc ltloirtl
o1't lu'rcsrrl t irrg rcatl ings. By using t lur rnearr as the f irral rrurasrrru o1'wciglrt,

(a) lria^s itr thc rncirsllrornrlrrts will llc reduccrl, brrt rrot thc rartclont ol'I'or.
./,i,
((lr) r'arrrlt)ll crr'or in the rrrcasllr'olncnts will bc reducecl, lurt uot lrias.

(t:) lroth rarrclorn crror a,rrcl bias will be rcdrrcerl.

(rl) ncil;her rarrdonr crrol nor bias will be rrxluced.

(t:) t,lur total of trias plus randonr error shoulrl bc zero.

(3)[2 points] A rncltrsurc can llc valirl yct t]re nreasuremcnt
*  N o T 6

(a) r 'cl iabk:.

( lr) biascrl. CFnN C^t
fl'nt
-a

of t,lre above.

rr<lnc <rf ttrc abover.
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(4)12 points] ther followirrg table sumnrarizes the British Colurlbia rncdiatr tottil ftruiil)' incoutc fot'

ycals 2001 through 2005:

Yerlr Mcdian tota,l faniily income ($)

2000 I)0,900
2001 51,700
2002 52,800
2003 53,600
2004 55,900
2(X)ir 58,500

'flrc grt:atcst percentage increasc in nrcdian total f'arrrily inr:orlte occttt'rcxl firr ytla,t's

(a) 2tXX) - 2007

(b) 20t)1 - '2002

(c) 2(X)2 - 2003

(tl) 2{)03 2004
.r-\.
(9/ 2(x)J - 2(x)5

(5)12 points] Tiur qucstiotr "Woukl you likt: to sct: rnorc tria,tlr collrsos ofli:r'crl at, N,lalilsPillt)' wirs

askc<l irr a, rcccnt sllrvcy of 650 rnalc ancl 550 fcrnale students. The sttrvcy t,,r11;lttxl tlrtr lirl lowirlg

corurlrrsiorr : 30% of rnalc urrd 50% of fenrak: stu<lcrrts atrswt-'rc<l "yos", fbr a total tif 80% of

strrr lcrr ts wishing to scc uurrc rna,th ( 'oursos of l t : rccl .  Tlxr total  of  80% is i t l r ;ort t l< ' t ;  rvhat is

l,lrc r.olrc<rt llcr'<.rrrrtagc of strrr,lt:rrts wishing to st:t: rnore rrrat,h ('olllsos oflttrtttl (rorrntl to tttritrcst

1 rc rccr r l , ) /
 ,
( t l  ) ) ; l f ) '2 ,
\-7
(lt) '29%,

(<:) 40%,

(rI) 20%,

(c) Tlrcro is irrsuffir:ierit inforuratiorr to arlswor tlur clttcstiort.
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(6) t2 points] 'fhc followirrg is a pic chart frorn WorkSafe BC summarizirrg thc clistrillrtion of 1464

accident,s in thr: oil and gas indrtstry over the years 2001 - 2005'
Claims by Acci$ant Typt

tFivs Ytsr Avsrd$eI

_ 1516 Over evertian
Irt  l l
$i{r�#"'
i!.?'' 'l5% S'trus[ hy sl:jerl

,& 1r% Farro rower revel
*16 Boc.lil'y reastion q* 

a",t" ""** u"*

l{r1w rrraly irrilries werrg cllc to falls or ctther causcs? (rorrn<lerl to ttetart'st vu'ltolc ttlttllrct)

( l) l i22

( l ' )  I  l ( ' 4

(c) 1186
n
(  ( ,1) )  908
\-/

(<:) '22'/o

(7)12 points] T'o tlul rrcart-.st $10, which of the following two invcstrrrcttts slto-,r' tt, gt'tra,t,or ittt:t'otrstr

ovcr tlur pcriorl Nov 2006 to Dct' 2006'/
lnvestment 1 lnvestment 2

2006 Ocl 2006 Nov 2006

time (date)

1 . 1 7 0

1 . 1 6 5

1 . 1 6 0

1 . 1  5 5

1 . 1  5 0

1 . 1 4 5

1.140
'1 .135

1 . 1 3 0

1.125

1120

1 . 1 1 5

(:r,) Irrvcst,rncnt 1 .

( lr) Irrwrstrnent 2.

((1!IB,r l l t  r t t ' t '  alrottt  l l tc sit t t t t ' .

(rl) 'I'lury cannot be r:ornparcd becattse tht: vertical scales arc rliflirrent.

(e) T'hey carrnot be compared because line graphs are not appropriater fot' r'cplcsctttirtg tttt-

rncrical dtrttr.

.1U% (:th€r

1.200
1 190

2 ; 1 . 1 8 0
b  t . r z o
o  1 . 1 6 0

E

5  1 . 1 5 0
6 1 .14O
E rso
E 1120

!  r . r o
o  1  . 1 0 0
!  r o s o
G
> 1 .080

1.070

1.060
sep

o

o

q
E
ll)

E

E

q)

=
G

Dec 2006 Oct 2006

time (date)
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(8)[2 points] In ther folbwing stemplot

1
z

,)
,4
lr
(i

7

8

I

tlu: ura,xiruurn of tlte observations is

(a) ee.
(b) also an outlielr.

( t : )  97.

( r l )  (a)  anr l  (b) .

(O0,)  ar r< l  (c) .

(9)t2 points] A nornurl rlistribution with rrrcirn 10 anrl stanclarrl tleviatiorr 5 ltas 68%, of obstrrva-

l iotrs l l tr twc<lrr

( , ' )  l0  a , r r r l  l5r .

( lr) I-r iurt l  10.

@s tur<l 15.

(r l) - l-r arrr l  15.

(c) 95% wxl99.7Ya.

(10)[2 points] Irr a ccrtain norrntrl distritxtion thc rango of obscrvtttiorrs withitt t,wo st,itttrlat'rl

rlcvitrtions of thc nlcilrr is I47 to 589. What is the III€r?rrI of tht: <listrilntiorr'/

(a)  368.

(b)  184.

(t') 'l'lrc siun(-. as t,ire tnecliatt.
4 , ,
( | ] ) ( ' , )  r r r r r l  ( c ) .

(c)  (b)  ar r r l  (c) .

2 2 2 2 2 8 9 9
1 1 1 4 4 4
5 6 6
:l 4 5 5
9 9
0

7
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Question 2 Thc age as of last birthday ftrr 11 students is reportexl as follows:

17 ,  18 ,  18 ,  18 ,  19 ,  19 ,20 ,2r , ' �22 ,23 ,47
@r @t

(") [S points] Give the fivc turtttber suIIIIIIary for this data.-

yrrir't- =. l+

Q ,  =  L g

H - -  t q

Th e o4t lig;r t1+ p,*tlj tt'e- vrzr €ar-lt tovlo"nol t14-

!^t 
3 h,f, , v e S"<*<tv2 ira, a- nn€a-h ,^r;-h- f

cro,tn'ui/.er ,e'6 u;+^. t" t I€JJ JX"t*- V 'at-?( o^% L

u;tl^' Tt 7veoie* 
-n.a..^ T . fhe- ,nrutnba^-rhAleVe't,

X ; v< 5 ar wr o v<* aLU-Ll/bLte- V i clut*- of "h4-
v.u^f 

e-r " f tlne- oata

Q r  =  2 L

t,l.c\X = ,l+

(b) [3  points ]  ( lor r tp t t t r '  ; r ' .

x =
l +  r I  f  + l  r  + t g  + 1 3  +  l l  +  2 0  + 2 l +  Z Z + 1 1 + t f l

r l

= Z L

(c)[2 points] Wirat is a better measure of center for this data: thc mciln or ntccliatt'/ trxplair-.
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Question 3 lQ scores elre norrnally distributed with mezrn 100.

(") [a points] If 99.7 of :rll IQ scorcs fall within thr: range of 55 to 145, what is t]rtr sttrnrltucl

rkrvia,tion of the clistribution of I(J scores?

a
c o ( t = lqt  -  ' � t

L

/4r=5f 4 /-<+3 cr = /.tr

ooo /4+ Zcr �=  loo + 2  ( ls )

2, f  % =lr 3o-l

(c) [3 points] What perccntagc of tltost: taking thc IQ test score highcr tha,n 145'/

#
6 r

.'. ?*Le'^*^flz 
scanv'6

o .ts ?o

= n

above rrhlcJ^-

(b)t3point,s]Firltlthc,.)..,.,..-J@t}retop,,,,,;,:,",ryff".(,'J)^

7q,\z
oJu 04

abovc l4t i 5
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Question 4 The lif'etirne of a certain tvpe of light bulb is normtrlly distributecl with iI rlletrrr of li00

rlavs anrl ii staudard dcviatiort of 40 clays.

(") [S points] W]rat proportion of light bulbs last tnorc than

7

392 days'/

y! = 312

t=  3nz - '  -_zq2-3e
cr 1r

&t@t-=

(b)[3 points] What proportiotr of light lxrlbs last trt Y S J

D:)

z=
3a^c l

(c)[ 

 

points] How rnarly days does it take for 99.9% of light bulbs bo fhil'/

-25

a
, i

drrri? 'l /+gLe$ t

3oo )b31L
Usiy T/tELe I :

1t.t32

| =  ? P o - 2 o o -  Z . f
{ o

tAsin2 T,+tLe

o  + =
3 . 1 =  r y  =  X - ? o o

_to
X = 1oD +(t.t)Luo) =

: -  2 ,3

roo -g s.13

I .o+%

too-  o.  6L
q 1 . 3 ?  2  .

' tz9

7, l,olo/o lqst raT or€ tffigt z ab'15

:. 1\.3 g7. I ast o-t l€'"ft zoo ola25

.'o 11.1 % +ti( r,ri-tl-in 12Lt ebgs


